
Item# Qty Description

1 2 Frame half

2 1 Shank, 2"

3 2 Connecting plate

4 1 Folding shank assembly

5 1 Clip

6 1 Pin, 5/8"

7 1 Locknut, M16

8 1 Hex head bolt, M16*80

9 3 Locknut, M12

10 3 Flat washer,  M12

11 3 Carriage bolt, M12*75

12 8 Locknut, M10

13 8 Flat washer, M10

14 8 Carriage bolt, M10*20

 HITCH-MOUNTED, BASKET-STYLE CARGO CARRIER

http://www.carid.com/curt/
http://www.carid.com/cargo-carriers/



